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MENTAL ABILITY TEST (MAT) 
41t- 	tatur 

(QUESTION NO. 1 - 90) 
(5R-i *kY-11 01 - 90) 

1. The market price of a book is Rs. 110. The 
shopkeeper gives 10% discount on it. what 
is the selling price of the book? 

	

1. 	Rs. 100 	 2. 	Rs. 120 

	

3. 	Rs. 99 	 4. 	Rs. 90 

1. ig --- 	cm 	Vi-ii 	IIFT 	110T. 	't I 	scm-tqk 

3,6 t 10% c6) to 	or t 1 ii-f--T (or ft -A 

TIF=1 cV-ii g? 

	

1. 	100T 	 2. 	120 

	

3. 	99' 	 4. 	90 .  

2. A man goes 20m due west and then 15m 
due 	north, 	Then 	his 	distance 	from 	the 
starting point is: 
1. 15m 	 2. 20m 
3. 25m 	 4. 17.5m 

2.  -) 3T1-4-41 	20410 	tift-41=f Thl 30 UaTT 3,4-ict) 

qiq 	15410 	\i-kk 	(61 30 uticit 	* I 	ci) 7-1-4f 

fa- 	-Ti--I't VI.  t i 
1. 	15 lit0 	 2. 	20 ITTO 

3. 25 to 	 4. 	17.5 410 

3. In a certain code 'SUGAR' is written as 
'RPHLU' then 'GURUS' may be coded as 

1. HPUPR 	 2. RPVPR 
3. LKRKP 	 4. PKVKR 

3. f+-it ci)t '41TIEIT •0 'SUGAR' 	t 'RPHLU' eiT 

Qin t I c 	3-#1 ct)t 1-Truir 11 'GURUS' cPl 	 
"111 11 	I  	 fir 

1. HPUPR 	 2. RPVPR 
 

3. LKRKP 	 4. PKVKR 

4.  In the figure, find the value of 'x'? 

1. 50° 	 • 
No° 

2. 40° 

3. 80° 

4. 60° 	
x,4A x 

4. fW .  Ti 	'x' cm 	111-1 	gild 	c4.-)e? 

1. 	50° 

2. 40° 	 woo 

3. 	80° 

4. 60° 	
x ‘ Ado 

5. A boat goes downstream and cover the 
distance between two parts in 4hrs. While 
it covers the same distance upstream in 
5hrs. If the speed of the stream is 0.55 
m/s, 	the 	speed 	of boat 	in 	still water is 
(Approximate) :- 
1. 36 km/h 	 2. 54 km/h 
3. 9 km/h 	 4. 18 km/h 

5. -) r1ic4 um (bl Fon A \siicm --)- ci-qviI61 

4)-.  4 It 4 Yte -4 do w-edi t ' --41 

UM cA fatitff ?Off 
14Its'  Vt 5 Q 71 nu 

I 	WU 4 T116 0.550/#--  --et g 	72if4-   
f)" g 	-HO 	vrt-o-  Q- R-1 14 -wei vo mtf,N.  

(cdilliTT) :- 

1. 	36 	[4-)0410/ -.itf 	2. 	54 fOltfitO/t-idl 

3. 	9 14)01ft/ t-idl 	4. 	18 10-41-0/t4e1 

6. A train passes a station plat form in 36 
seconds 	and 	a 	man 	standing 	on 	the 
platform in 20 seconds. if the speed of the 
train is 54 km/h. What is the length of the 
platform 2 
1. 120 m 	 2. 240 m 
3. 300 m 	 4. 360 m 

6. cp 	r 	AZMT4Th--)" 	36 	t41" 	14 .2.TT 

t)dtm4 TR Wt WW1 ct>f 20 3tWcr- 	11.  ITR 

-g I 	-Eff . 	-i 	cl 	Tit 	54 	fOtO /lit! 

-g I -c--ft k-e)tt-nifi 4 	azii tYt? 

1. 	120 it-d-R• 	 2. 	240 41--d--- 

3. 	300 4r--d7 	 4. 	360 4 

7. Evaluate 7. 'IN 	11cf c,i) 	1 - 
5  

1+ 	I  

I 3+ 	1 

1 
2 	f- 1 

4 

1 	1 	n 	31 	0 	4 	A 	31 
i . 	-- 	L. 	- 	..-.,. 	- 	-i. 	- 

8 	8 	 9 	40 

2+ 
4 

1 	31 	n 	4 	A 	31 
1. 	2. 	 - 	.-t. 	- - 	- 	0. 

8 	 8 	 9 	40 
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8. 	The following shows a polygon with all its 

exterior angles, the value of 'x' is 	. 

8. 	ttftq• -1-1-R q-g-4-p -4 Tit qr--Ef 	r f 	-g , 

'x' 	(t)1 	+-ivi t 	  
1. 36° 	 5x 	ax 

2. 20° 

3. 10° 

4. 18° 

1. 36° 	 P 	
4x 

2. 20° 	• 
3. 10° 2x 

2x 
4. 18° 

9. 	How many cubes are needed to make the 9. 	4M f  TFR 61fl 	co) 	c4-11,) T4 f ---0-4 q-a-  (4) 
-1-Tfi? 31-10-E-Tim-dr 	Admrimmior solid below? 	-iii 

1. 	 AIIIIIIIIIIIMO 36 AIIIIIIIIIIN 
1. 36 	AIIIIIIM 4 

2. 20 
4111Pmmil. 

2. 20 
3. 10 

10P 3. 	10 1/1P 
4 

4. 	27 
. 	27 

 

10. 	In a certain 	code 'SIKKIM' 	is written as 
'THLJJL'. How is 'TRAINING' is written in 
same code? 
1. SQBHOHOH 	2. UQBHOHOF 
3. UQBJOHHO 	4. UQBJOHOH 

10. 	-) 	14111z 	cpc,t 	7iitit 	II 	'SIKKIM' 	ch) 	'THUJL' 
--At i- arT 	ultc-il 	t I 	cr),,C 	MITT A 	'TRAINING' 

-11-1 ci))AWR 	QINT11? 
1. SQBHOHOH 	 2. UQBHOHOF  
3. UQBJOHHO 	 4. UQBJOHOH 

11. 	If 7 spiders make 7 webs in 7 days, then 1 
spider will make 1 web is how many days? 

7 
1. 	1 	 2. 	-- 

-) 

3. 	7 	 4. 49 

11. 	zlif 	7IT-04*k 	7 	. 1A-, 	7 	R-I 	14q9fft t, 
. (4-) 04 	TrW4)-, 	\I-- 	\ART 	F-1 	f91' 	11 

q9ivTil ? 

	

1. 	1 	 2. 	-
7 

2 

	

3. 7 	 4. 49 

12. 	What least number must be added to 
1056, 	so 	that 	the 	sum 	is 	completely 
divisible by 23? 
1. 	2 	 2. 	3 
3. 	18 	 4. 	21 

12. 	0)-I 	't1) 	.1.-1c1+i 	st-acqi 	1056 	l'i'17gt 	'i1R 

ATRI 	,6,4g.11 	1114-d7TT 	23 	t 	f"4-11fTf 
QIN? 

	

1. 	2 • 	 2. 	3 

	

3. 	18 	 4. 	21 

13. 	How many prime numbers are less than 
50? 
1. 	16 	 2. 	15 
3. 	14 	 4. 	18 

-0-  

	

13. 50 	ch4i F$-fft 311TN-Tr %I'm-44N g-Yei g? 

	

1. 	16 	 2. 	15 

	

3. 	14 	 4. 	18 

14. 	In a camp, there is a meal for 120 men or 
200 children. 	If 150 children have taken 
the meal then, 	how many men will be 
catered to with remaining meal? 
1. 	20 	 2. 	30 
3. 40 	 4. 	80 

14. 	lc 	4,z1 1311-66T 4-1)--9. 	120 p-Th TIT 200 

4-- )' -- i -R rg I 	zif4 	150 	fizz) 	4)-1-1 	cb-- 
--d-4 0-fp14 ci1cbc1 4q1 4i)V9.  ct) 	eitit? 

1. 	20 	 2. 	30 
3. 	40 	 4. 	80 

15. 	If the selling price of a product in doubled, 

the 	profit 	triples. 	Find 	the 	profit 

percentage? 

.7 
1. 	66 - 	 2. 	100 	• 

3 
I 

3. 	105 - 	 4. 	120 
3 

15. 	Tfft 	f -3fr 	0 0-11q 	coi 	ft----zi 	Tffi 	4j--i1 	Th--.  

ftEfT 'JII 	cl) 	1 tR ON fdirIT -ef uildf * I 
qrau-a vo cr) 1? 

	

1. 	66 -
2 	

2. 100  
3 

	

3. 	105! 	 4. 	120 
3 
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16. 	On selling 17 balls at Rs. 720, there is a 
loss equal to the cost price of 5 balls. The 
cost price of a ball is :- 
1. 	Rs. 45 	 2. 	Rs. 50 
3. 	Rs. 55 	 4. 	Rs. 60 

16. 	-. 	720 	11 	17 	,I. 	. -c,14 1:R, 	5 	4<1 	(-11,1d 
ir't iffi. 	ERIGN 	-&-dr 	t 1 	-) 	4q 

c-114 ici 	licq-1 	:- 
1. 	45 	--1T?). 	 2. 	50 
3. 	55--1:17 	 4. 	60--1 

17. 	The price of 10 chairs is equal to that of 4 
tables. The price of 15 chairs & 2 tables 
together is Rs. 4000. The total price of 12 
chairs & 3 tables is 	 . 

17. 10 TRW' 4,c't *.l ., 4 4)A). 	GNIGN g I 15 
1c-.ff2-1-1 2 -4-4 4 c(-4 . "1Tr ff Tcit 4000 

I 12 Tfit? 	U2-if 3 *A-  4 	d 	- 

1. 	Rs. 3500 	 2. 	Rs. 3750 
3. Rs. 3840 	 4. 	Rs. 3900 

tirfr I 
1. 	Tcft 3500 	 2. 	. -1:11 3750 

3. 	. -1=1-4 3840 	 4. 	'T 	3900 
18. A pump can fill a tank with water in 2 

hours. 	Because 	of a 	leak, 	it took 	2- 
1 

3 
hours to fill the tank. The leak can drain all 
the water of the tank in :- 

1. 	4- 1 hours 	 2. 7 hours 

3. 8 hours 	 4. 	14 hours 

18. 	-) 	1:FT 	c.t) 	84) 	4 	rift 	t 	2 	1=-1-1 	A. 	̀4N 

,t-IcPc-11 t I Rill 	ct)kur 84, 4-TT4 -44 	21  t-i 
3 

041-4 	* I 	-1q 	ftff1-4 	c,t-) 	co) 	fir 	c 

'wool g :- 

1_______ _.. 

	

1. 	4- t-itie 	4-1 	 2. 	7 t-it-) 	14 

	

3. 	8 Elir 	-4 	 4. 	14 _11-1 	A 

Direction 	: 	The 	following 	diagram 	shows the 
export of gems & jeweilry, answer the question 
19 to 23 according to following diagrams:- 

7, 7000 	 clop 
11 
a 6000 
cc 
w 5000 
8 	

4200 

0 4000 
a 
Zr, 3000 	 2140 
c , 2000 	1530 

	

1200 	i 	
• 

. 	835 
to l000  

. 	I__ _ig 	lit - 	--- 	-- 	• 

	

198S 	1986 	1917 	SU 	1966 	1990 

YEARS 

---. -14n 	14---1 QAci 	• --a-irkr A 	sc--i q 34-pgi4 

ftTli-ff 	q)r 	ft-G-171T 	41q T 	* I 	T1-V 	,-ks,--i I 	19 	t 

-R-  

	

23 04) 	3-K1N TAI 	Qi1:1 -. alitTR-  Li:- 

	

7000 	 6100 

6000 

	

5000 	 4200 i 

4000 
 o4.'. 

	

* 3000 	 2140 

	

, 'u 	2000 	 1530 	1200 	,, , 	,,, 

	

s.5 	 835 	 tr, 	r' 

	

a 	1000 	. 	p-, 	P.-.. 

	

0 	El....41. 	_i 	Ix 	_... 
1988 	1916 	1967 	191$ 	1969 	1990 

IT4 
------------ ------- --- . 

19. 	What is the total export of gems & jewellry 
(in crore rupees) from 1985 to 1988? 
1. 5705 	 2. 5750 
3. 4705 	 4. 5707 

19. 	'44 1985 t 1988 	cict) 	c•.-1 4 3Tr1JT ct>1 	cqc-1 

ft?jitff (4) 	Tuft 	) -It-d-9-T *? 
1. 5705 	 2. 5750 
3. 4705 	 4. 5707 

20. 	What is the average monthly export of 
gems & jewellry (in crore rupees) during 
1990? 
1. 	508.3 	 2. 	518.3 
3. 528.3 	 4. 528 

20. 	1990 	tU9. 	'4 	3T1TfulT 	4)1 	T-ITM-- 
-,-j1'? ATa ftzlid" (4)\ 	sl:14 A) ft-d 

1. 	508.3 	 2. 	518.3 
3. 528.3 	 4. 	528 

21. 	What is the average annual increase in 
export 	(in 	crore 	rupees) 	from 	1988 	to 
1990? 
1. 4213 	 2. 2056 
3. 	1980 	 4. 2156 

21. 	1988 T1.  1990 Oct) fkzfrd 74 3t131-ff cll 	cf) A 
(c4-) 	-171f -4) r+---dt t? 
1. 4213 	 2. 2056 
3. 	1980 	 4. 2156 

22. 	What is the percentage decrease in export 
in 1987 1987 from 1986? 
1. 21.57% 	 2. 27.5% 
3. 49.07% 	 4. 330% 

22. 	1986 	fi 	1987 1-)'fkzriff 11 14Tc c 

t':- 	g? 
1. 21.57% 	 2. 27.5% 
3. 49.07% 	 4. 330% 
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23. 	The export in 1990 are nearly how many 
times of the export in 1985? 
1.8 	 2.7 
3. 	7.3 	 4. 6 

23. 1990 	t fkai-ff, 1985 4 p fkzita TT r TIITIT 
it-d4 Tif t? 

	

1. 	8 	 2.7 

	

3. 	7.3 	 4. 6 

24. 	If -0.5 = V 2m + 7, then m=? 
1. 	5 	 2. 59 
3. 	-1 	 4. 	9 

24. 44 	31,Q3 = -12m + 7, "dr in='' 

	

1. 	5 	 2. 	59 

	

3. 	-1 	 4. 	9 

25. 	Find 	the 	value 	of 

x=2y=3z 
i 	23 
..  

6 
3. 	-1 

x 	y 	z 
-+-+- 

	

( 
y 	z 	x 

2. -
4 

3 

	

4. 	9 

if 
x 	y 	z 

25. 	-+-+- 
y 	z 	x 

x=2y=3zti 
23 

1. - 
6 

3. 	-1 

WI 	11T9. 	vii-f 	Th1-1 .7 

2. -
4 

3 
4. 9 

a2 _ 2 

26. 	if 	0 b 	 then 1008=? a 	- 	. 
2 b 

, 	c r. 	
b 

0 	 1.008=? 26. qk a 	b - 	, 

	

1. 164 	 2 	6 

	

3. 36 	 4 	15 

	

1. 	164 	 2. 6 

	

3. 36 	 4. 	18 

27. 	If a2  :b2  :c2  =49:100:16, then a:b:c2  
is 
1. 	7:10:256 	 2. 	7:10:16 
3. 	10:7:16 	 4. 49:100:256 

27. 	i1 	ci : b2 : c 2 = 49:100:16, 	vt 	a:b:c2  

6)411 - 

	

1. 	7:10:256 	 2. 	7:10:16 

	

3. 	10:7:16 	 4. 49:100:256 
2s. 

OW 1. 28 	
&Ma 2. 36 

28. 
1. 28 

2. 36  

25 

9 	35 39 

3. 81 

4. 49 
ig 3. 81 	WO' 

4. 49 	 4V10 

29. 	36, ? , 16, 9, 4 
1. 20 	 2. 25 
3. 30 	 4. 32 

29. 	36, ? , 16, 9, 4 
1. 20 	 2. 25 
3. 30 	 4. 32 

30. 	4, 16, 64, ?, 1024 
1. 208 	 2. 256 
3. 356 	 4. 512 

30. 	4, 16, 64, ?, 1024 
1. 208 	 2. 256 
3. 356 	 4. 512 

31. 	9, 20, ?, 86, 174 
1. 42 	 2. 36 
3. 40 	 4. 43 

31. 	9, 20, ?, 86, 174 
1. 42 	 2. 	36 
3. 40 	 4. 43 

32. 	5, 12, ?, 96, 285 
1. 44 	 2. 33 
3. 48 	 4. 43 

32. 	5, 12, ?, 96, 285 
1. 44 	 2. 	33 
3. 48 	 4. 43 

33. 	23, 1, 20, 4, ?, 7, 14 
1. 	17 	 2. 	10 
3. 	18 	 4. 	12 

33. 	23, 1, 20, 4, ?, 7, 14 
1. 	17 	 2. 	10 
3. 	18 	 4. 	12 
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34. 34. 
8 11 4 2 10 6 8 11 4 2 10 6 
2 4 10 9 6 ? 2 4 10 9 6 ? 

	

1. 	8 	 2. 	7 

	

3.3 	 4.4 

	

1. 	8 	 2. 	7 

	

3.3 	 4.4 
35. 35. 

12 108 9 12 108 9 

7 ? 8 7 ? 8 
11 99 9 11 99 9 

	

1. 63 	 2. 56 

	

3. 78 	 4. 72 

	

1. 63 	 2. 56 

	

3. 78 	 4. 72 

Direction 	: The following 	pie-chart shows thef=4---cz 
percentage 	distribution 	of 	the 	expenditure 
incurred in publishing a book. Study the pie-chart 
and answer the questions based on it. (From 36 
to 37). 

:- 	-1- 4--11- (cd 	174 	T-11 	<1') 
>M•1 	izR 	g 	u4llfc ici 	it-d-Pr 	m--1- 

-z6-d-r t I 	*ii 	in 	-ciiJ wr 3Turzi9-  ch4 -ffP-TT 
Tii TR 3T1VTRff 
Oct)) 

• 

	

m 	.-11.  

ITATi MTTU 

10% 

711114t, 	15% 

* 	i-t-i•< 	I 

Th-T,TM aPM 

20% 

(36 tf 37 

PROMOTION 

COST 10% 

ROYALTY 15% 

BINDING COST 
20% 

PAPER COST 

25% 

PRINTING COST 

20% 

TRANSPORTATION 

COST 10% 

111°  

36. 	If 5500 	copies 	are 	published 	and 	the 
transportation cost on them is Rs. 82,500, 
then what should be the selling price of the 
book so that the publisher can earn a profit 
of 25%. 
1. 	Rs. 187.50 	 2. 	191.50 
3. Rs. 175 	 4. 	180 

36. 4.41 5500 A 	T mcm1-1 t 3N tatd-69 
ciiiici 39 1:17 Trrif 82,500 t,Bch 3R -- 
wr fawzr 	c-e•I <N4r OW UTI 	ict)R1c41 	3,t-i rF 
25% WI-T (4)411 tic•P 
1. 	.01-1 	187.50 	 2. 	. 11-4. 	191.50 
3. 	V40.  175 	 4. 	P--0 180 

37. 	if for 	a 	certain 	quantity 	of 	books, 	the 
publisher has to pay Rs. 30,600 as printing 
cost, 	then what will be the amount of 
royalty? 
1. Rs. 19,450 	 2. Rs. 21,200 
3. Rs. 22,950 	 4. Rs. 26,150 

37. 	?A 	a-i-ff-ef  	f4stiftd- 	,4-i.Ai 	f', 
A-0-741- 	TOT r1141c1 	Wi.  A TTO 30,600 

TIT4 t, T4 •t‘RI- 1 Thrl• Tft lqr telt 
1. 	TTI?: 	19,450 	 2. 	TIcit 21,200 
3. 	W:lif 22,950 	 4. 	Tilt 26,150 

Direction :- In the questions number 38 to 40, 
select the one which is different from the other 
three alternatives. 

ft-bi :- 	.-f '- 	.i1 38 A 40 It \iu f4M-7( MI 
.f=4. ,i) 3TR:f a ri  Rcr,,,,ii tr p..,{ t :_ 

38. 
1. 8 - 72 	 2. 	13 - 196 
3. 10 - 90 	 4. 9 - 99 

38. 
1. 8 - 72 	 2. 	13 - 196 
3. 	10 - 90 	 4. 9 - 99 

39. 
1. PQRT 	 2. MNOQ 
3. DEGH 	 4. KLMO 

39. 
1. PQRT 	 2. MNOQ 
3. DEGH 	 4. KLMO 

40. 

	

1. 63 	 2. 56 

	

3.8 	 4.72 

40. 

	

1. 63 	 2. 	56 

	

3.8 	 4.72 
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Direction : In the following questions (41 to 44) 
which answer figure will complete the series. 

-4 fkbT :- 14--IWZIct cR-9t (41 J 44) 	09-  a 
\1.1H 3TITic4 3 1i VT Ttrf'r I 

41. 	Question figures. 41. 

(-- ( e  , e  e  WZ9. 	T1

0 ? 
0 7 

Answer figures. 
\3-cN 3, TeRri 

:II ED 	 0  	B ',  Alb CD 	 OB I j  141, ___. .__, Nor .._. _y 
1. 2. 3. 4. 

1. 2. 	3. 4. 

42. Question figures. 42. 	'74-  31-Fti 

? 
Answer figures. 3-c-i 3TTeffit 

V / )\ A V .)\. 
1. 2. 3. 4. 1. 2. 3. 4. 

43. Question figures. 43. 	1:17-.  311-fftzil 
.. - 

I 1 4--m7 
, I  

1 14_4. ? .. ____ 

Answer figures. 
-k-i, ' 3flrd1r 

/ N : > 	< / N 1 
1. 2. 3. 4. 

1. 	2. 	3. 4. 

44. Question figures. 44. 	m. -t 3Treari 
+ 
0 =* 

*C 
o= * 

C 
A 

9 
" 0 

+0 
=* 
* 

= 

C 

* 
C 
A 

7 
Answer figures. 

i-ci,  31 T T-  rdal 	. 
C 
A 
* 

? 
A 
C 

C 
A 
? 

C 
A 
+ 

C 
A 
* 

? 
A 
C 

C 
A 
? 

C 
A 
+ 1. 	2. 	3. 	4. 

1. 	2. 	3. 	4. 	• 

Directions 	:- for questions 	no. 	45 to 47. 	The 

question figures A and B have a certain relation 

similarly C and D are also related. Which answer 

figure will 	appear in 	place of "?" to establish 

same relation between figures C and D. 

- 	• 	:- 	gi: 	‘-K.,q11 	41 	47f'j 	: 	ATI.  

31T-&41.  A zi.  B 14 V35-  th-NTTZ ,-ici-£T' 13 

4 	ft Tt4f4d-  t 	 -T .  ict)R C 	D 7 	 I \3-c-k 3TFT-t-t 
 

' 	' T)- 	cl- ).1 	s-11 	311T-1 	? 	c i-Q1T9- 	ER 	34-rt4)- 
3TFErfiza C 4 D it cA TITzFff --P-TTftd 

,-Ic 	I 
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45. 	Question figures. 

,, ,,,,,,,, 45. 	1;f79 3zrr 

„„„,,, a  I › 	, 7 . a  Imp T ? 
Answer figures. kiR 3 1 - Fed - z rr 

i. 2. 3. 4. 1. 2. 3. 4. 

46. Question figures. 46. AST 34-7007if 
	o o 

 	c 
c( 9 <0   	o/\; () 7 

Answer figures. 3 -c-N 31-FEWf 

1. 	2. 3. 4. 1. 2. 3. 	4. 

47. Question figures. 47. q79.  3Tr&za 
*---- 

A 
0 

V 
0 

+ 

4____ 

v 
I 

7 
i-  

A 
0 

V 
+___ 

0 • . 

4  
N 

v 

Answer figures. 3-c-N 31i&Zrf 

- V 

* *--- 
• 
m  A 

D A 
 

____+ +- 
is 
. V V 

* 
_ A 

+- 
_ A 

_4: +- 
. V 
• 

1. 	2. 	3. 	4. 1. 	2. 	3. 	4. 

48. 	How many 
below :- 

1. 	5 
3. 	8 

.4444yr 

triangles 	are 	there 	in 	figure 

II. 

• - 

	

2. 	6 

	

4. 	10 

48. 	t---  t 4 1 -  311-T1 

-44111& 

1. 	5 
3. 	8 

1?t f+d 	fiV t I 

lik. 

P4` 
2.6 
4. 	10 

Direction : for question Nos. 49 to 53 Select the f 	1. 	:- 	g'c-9' 	,-i'LcAl 	49 	53 	ff-q" 	4 N• 
related word from given alternatives. .-T:m ict->c,ti• 	-4 -# 	,-1,4-14r 7F- • 	cm 	c 	- 

49. 	Running : Fatigue : : Fasting : ? 49. 	‘11 	: 	2-1M- T : 	: 	s4ci 	: 	? 
Hunger 

	

1. 	Breakfast 	 2. 

	

3. 	Health 	 4. 	Food 
1 	-iwii 	 2. 	4-F4 

3. 	,-c-ii-P-if 	 4. 	lit 

50. 	Paragraph : Prose : : Stanza : ? 
Verse 

50. 	1 4,iii-i-) 	: 	4 ] 	: 	: 	'Et-4 	: 	? 
1. 	Play 	 2. 
3. Metro 	 4. Rhythm 

1. -iitco 	 2. 
2. 1)0 	 4. 	--Q1-4 

51. 	Well : Depth : : Word : ? 51. 	,3T T: 	416,d 	: 	-z-F• 	: 	? 
1. Sentence 	 2. Meaning 
3. 	Mountain 	 4. 	Plain 

1. 	"lqzi 	 2. 	3T2-1- 
3 	riff 	 4 	,14icic-1 

52. 	Good : Bad : : Roof : ? 52. 	3T 	T : i-T-  : : UM" : ? 
1, Window 	 2. 	Floor , 
3. 	Walls 	 4. 	Pillars 

1. 	fZcicbfl 	 2. 	tb7i 
3. 	t--q-- 	 4. 	RTI-121-)" 
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53. Walking:   Running:   : Smiling : ? 
1. 	Feeling 	 2. 	Laughing 
3. Face 	 4. Weeping 

53. 	lie.-it 	: t-----qT : 	: 	T-ctsfl.-11 : 	? 
1 	37140 	 2. 6‘d-11 
3 	-c)61 	 4. 	)--ii 

54. "Mathematics" is related to "numbers" in 
the same way as "History" is related to 
1. 	People 	 2. 	Events 
3. Dates 	 4. wars 

54. "1-1-fkff" 	13-1. 	•54---R 	"T1-CIT31-)''' 	-). -ff1*4,Tff 	*t 

"ed----Ri" 3-# 'k10-)k 	 TilAT-d.  t :- 

	

1. 	(1) 4 1 	 2. 	-it--k 

	

3. 	FO-f4Tft 	 4. 

55.  "Captain" 	is 	related 	to 	"Soldier" 	in 	the 
same way as "Leadar" is related to 
1. 	Followers 	 2. 	Party 
3. 	Minister 	 4. 	Vote 

55. 	""\-q--d-- " 	4--4f4a 	* 	"fti-crrer 	f' ,-R-i- 	icl-)H 

''.)c -ii'' 	1-RI-r>rU t 
1. 	3171-Rft 	 2. 	cci 

3. 	Tilt 	 4. 	ci t 

56. Find 	the 	missing 	number/ 	letter 	in 	the 
following series. 
1, A, 3, B, 7, C, 15, D, 31, E, ? 
1. 	62 	 2. 	F 
3. 63 	 4. G 

56. fr sFi7T -4 T)' Ta , -i•c.q-ii TIT 3Ta-17 -q-dT:-
1, A, 3, B, 7, C, 15, D, 31, E, ? 

	

1. 	62 	 2. 	F 

	

3. 63 	 4. G 

57. Choose 	the 	correct 	alternative 	that will 
continue the same pattern. 
9, 28, 65, 126, ? 
1. 	217 	 2. 	240 
3. 676 	 4. 529 

57. 	Tit 	fOThFi 	(1-)1 	w:49 	(.4,4 	f -Ti--{)- 	1-4) 	z.16 

9- - 6-T ci+11c1H 'T-ddt 
9, 28, 65, 126, ? 

	

1. 	217 	 2. 	240 

	

3. 676 	 4. 529 

58. Choose the odd word. 
1. 	Parrot 	 2. 	Pigeon. 
3. Sparrow 	 4. Bat 

58. 	f -i:TM 'W- 	chi .q2:-M 4,4 
1 	ci di 	 2. 	ct)(i\ci. 

3. 	IDLil 	 4. 	T4 414 11 

59. A class of girls stands in a single line. One 
girl is nineteenth in order from both ends. 
How many girls are there in the class. 

	

1. 	38 	 2. 	37 

	

3. 40 	 4. 39 

59. 	c,i14)_11 	4 l 	, '8.-TT 	)t-€fT -4 	Ilt t I 	t-) 
q) --II 	 .3-1114 	3-QTr9. 	tH 	Rr-.gt 

t l 	a-i-r -4 (-1.14k41 t 1 
1. 	38 	 2. 	37 
3. 40 	 4. 39 

60. Which one will replace the question mark? 

3 

60. 	q•-icii-00-) 	1 --- 	---P-11-- 	uR 	0.-i 	-# 	,-k.GL11 
3ficrTir - 

, 	6 	4 	7 	5 

4 	 5 	 6 

	

1. 	47 	 2. 	25 

	

3. 	41 	 4. 	37 

	

4 	 5 	 6 

	

1. 	47 	 2. 	25 

	

3. 	41 	 4. 	37 

61. Choose the word which is different from 
the rest 
1. Wood 	 2. Wool 
3. 	Plastic 	 4. 	Paper 

--4 61. 	\3fl 71---  c) IFT a 	-N.V 	316-TT * :- 
1. 	---11" 	 2. 	ovi 

3. 	1-(-11R-ct) 	 4. 	cb14Iut 

62. Pointing to a photograph of a boy Mahesh 
said, "He is the son of the only son of my 
mother". 	How is Mahesh related to that 
boy? 
1. 	Father 	 2. 	Cousin 
3. 	Brother 	 4. 	Uncle 

62. 	Bch a-# 4 tb--)--a- 	TzTi T 	-.- 4 V 

"06 litT 4)601 * 14) 	01-  TT 	ct,ono 
cm 	i t" *VT cm rid c 	1-T-rtT t - 

f4- 	 1-It 1. 	-d-r 	 2. 	-E1- 	1  
3. 	4T-1 	 4. 	Til-c41 
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Direction :- In question 63 to 65 complete the 
series. 

:- Lit 63 .R4 65 14 54131i 4 Vi f4-- -41-  

(1') 	I 
s-i&-11 c14) 

63. WFB, TGD, QHG, . 63. WFB, TGD, QHG, ? 
1. 	NJK 	 2. 	01K 1. NJK 2. 01K 
3. 	NIJ 	 4. 	NIK 3. 	NIJ 4. 	NIK 

64. 4, 12, 36, 108, 	, 972 64.  4, 12, 36, 108,  	, 972 
1. 226 	 2. 	324 1. 	226 2. 324 
3. 423 	 4. 432 3. 423 4. 432 

65.  6, 13, 28, 59, 	 65. 6, 13, 28, 59, 	 
1. 	144 	 2. 	113 1. 	144 2. 	113 
3. 	122 	 4. 	111 3. 	122 4. 	111 

66. The wrong number in the series 66. g ftl:f 4It 	41 do flcq-iI 
3, 8, 15, 24, 34, 48, 63 is 3, 8, 15, 24, 34, 48, 63 is 
1. 	34 	 2. 	15 1. 	34 2. 	15 
3. 24 	 4. 48 3. 24 4. 48 

67. (A) Spring Season 	(B) Aroma 
Flower 

67. (B) (A) .q-fl,c-I 	;41,q t4  I 'PCT 

(C) Snow 	 (D) (C) clt- (D) EW 
(E) Winter 
The meaningful sequence of above five 
words is I 

(E)  
-icR 	-8-  5 .VT 	4)1 TITO r-04-1g f 

1. 	E, C, A, D, B 	2. 	E, A, B, C, D 1. 	E, C, A, D, B 2. 	E, A, B, C, D 

 	3. 	E, B, C, A, D 	4. 	E, D, C, B, A  3. 	E, B, C, A, D 4. 	E, D, C, B, A 

68. Arun walked 30m towards East, took a 68. 3T-PIT TO (.6) 30 30t0 T4dcil 	*, 	--i- 	31)7 
right turn and walked 40m. Then he took a 
left 	turn 	and 	walked 	30m. 	In 	which 

g 13N 	 c16 	cii 111-M g 3N ft---  40t0 T-4(101 

is he now from the starting point. 
1. 	North-East 	 2. 	East 

AT 
 

31'17 ITIT 	30-4f10 	-Eiricii g 13T-4 	c1 

3)-  f --i ftztr 14 t I 
3. South-East 	 4. South 1. \3-c-k-tk-4 2. 	TO 

3. 	.T-tici 4. 	-f4iIrr 

69. Which letter does comes next in the series 69. ft1;=I" Apj-FT 14 371 -FT 41:4 (V-11 	6)4 11 
of letters BACBDCEDF 
BACBDCEDF 1. 	C 2. 	D 
1. 	C 	 2. 	D 3. 	E 4. 	F 
3. 	E 	 4. 	F 

70. Find the odd man out. 70. 	3131.71-ff f4Wez[ ct)) '117 
1. 	Driver 	 2. 	Pilot 1. 2. turict) F4-JiM tilcict) 
3. 	Passenger 	 4. 	Sailor 3 4. TfTli 9Tft- 

71. Find the odd one out 71. 	3R1.11-ff ftWcl• cb) eq7 
1. 	Rainfall 	 2. 	Earthquake 1 2. citli 1-p-P7 
3. Cyclone 	 4. Tsunami 3. 4. z4sbc11c1 TA 

72. "Author" is related to "book". In the same 72. * 34-4-f4ff "1"T" f+-d-Fq" 34 341 qc,PH 	 
way 	 is related to 	 .... t 3Tff-e›1-ff t 
1. Human, society 1. 2. 4-1V,I, 	1-i 4-iik3i PI 
2. Engineer, Engineer, Building 
3. Mason, Building 3. 1  =1-TIT, 11-49 4.  r-b- , 

4. 	Fruits, trees 

1 \( i 	1 i 	1 	1 1 0 1 \( 
73. 1-- - 	1 	 1-- is equal to 73. 1- - 1 - - 1- --: I 1- - cbi 	4-ifri 

j 	4 5) \ 	x} 3i `Ii xi 
I 	 ? I  

1. 	- 	 2. 	2-- 
.v 	 x 

1. 	- 
x 

2. 
x 

3. 	3 	 4. 	-
4 

x 	 x 
3. 	-

3 

x 
4. 	

4 

x 
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74. Missing number in the series 
0, 1, 1, 2, 3, 5, 8, 13, 21„ 55 is 

	

1. 31 	 2. 25 

	

3. 34 	 4. 36 

74. l 4--i *Pclit # 37%rd i-k9-11 
0, 1, 1, 2, 3, 5, 8, 13, 21„ 551 

	

1. 31 	 2. 25 

	

3. 34 	 4. 36 

75. b 
75. 

If 	c - ac + bd, & x = 	then 
d 

'fl'i zrft 	- 	ac + bd, aft x = 

' 

value of 	is 4 	TT 1TT9' t - 

1. 20 	 2. 50 
3. 60 	 4. 62 1. 20 	 2, 50 

3.60 	 4.62 

76. Which digit will appear on the face opposite Th. 	*i&-ii 4 * fl.i,hci 	TWa- 	'cR 09-fit 	tity-if 
to the face with number 4? IT-4-Rtff 6 4  

6 6 

1 
fil 

5 

1. 3 2.5 1.3 2.5 
3.6 	 4.4 3.6 	 4.4 

' 77. If 'NOIDA' is written as 'STNIF' then in the 77. 	id4 'NOIDA' 0 'STNIF' itsii vtioi 't \J 
same codal format 'MEERUT' is written as faf4 4 'MEERUT' V itsir vimii - 
1. RIIVYX 	 2. RJJWZY 1. RIIVYX 	 2. RJJWZY 
3. QIIVYX 	 4. QIIVXY 3. QIIVYX 4. QIIVXY 

78. In 	certain 	code 	language 	"247" 	mean 4 '274' 0 34 * "spread red 78. .1- Y)ti V ITTIT 
"spread red carpet" "256" means "Dust the carpet", '256' '0' 310 t "Dust the carpet" 'MIT 
carpet" and "234" mean "Roll red carpet", 
then what number is code for "Roll"? 

'234' 0 3r4 't "Roll red carpet", t 33:1 cri,t 

1. 	3 	 2. 	4 li-rm A "Roll" c 	fq 0-1 ill tksql t - 

3. 6 	 4. 	7 1. 	3 	 2. 4 
3. 6 	 4. 7 

79.  From given alternatives, select the word 79. 	.1-4q TrR 1.. ct)(4i 	4 t 3 T 	Yl.s4 	Th-/ 
which cannot be formed using letters given fk4 fy<< Trq vr--. 	3Rit tr -A' A-ff \moot 
in the word. "PRESIDENT" 
"PRESIDENT" 1. RESIDENTS 	 2. DESIRE 
1. RESIDENTS 	2. DESIRE 3. TIRE 	 4. REPENT 
3. TIRE 	 4. REPENT 

80. 'A' is son of 'B' but 'B' is not father of A, 80. 'A' p * 'B' 'A' 	far 91 'B' 0 '"--ff 
then B is 	 of A t I t 'B', 'A' 0/Met *:- 
1. Father 	 2. Father-in-law 
3. Brother 	 4. Mother 

I. 	i' 	 2. Tlia7 

3. 	174 4. 	elicti 

81. The wrong number is the series t 81. 	5Fiffl* 	t 'RIO 't1 	11 
5, 16, 6, 16, 7, 16, 9 is 5, 16, 6, 16, 7, 16, 9 
1.9 	 2.7 1.9 	 2.7 
3.16 	 4.5 3.16 	 4.5 

82. Time in watch is 12:20. The mirror image of 82. Eft 4 liflii 	t 	12:20 	Tie-1W 	< yr 	ri'd4-4,4 
this time is iiiitl t I 

' 1. 12:40 	 2. 2:40 1. 12:40 	 2. 2:40 
3. 11:40 	 4. 3:40 3. 	11:40 	 4. 3:40 
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83. 	The value of 'x' 83. 	x 	c 	4-ii-I 

8 

54 	 8 	128 	x 

4 	 0  

54 	 8 	128 

4 	 0 

1. 	3 	2. 	9 	3. 	1 	4. 	2 1. 	3 	2. 	9 	3. 	1 	4. 	2 
84. 	A2C, C4E, E6G, G81, The next term will 

be 
1. 	110J 	 2. 	G1OK 
3. 	110K 	 4. 	J10K 

84. A2C, C4E, E6G, G81, 143TTTFT 1-1q 4ii 

	

1. 	110J 	 2. 	G1OK 

	

3. 	110K 	 4. 	J10K 

Direction :- Question No. 85 and 86 : Find the 
figure that best represents the group 

f ---T 	: 	( 	,icq_AI 	85 	86) 	c16 	311-0(‘-fi 	-11c-f 	c0 
un -f-- 	4i tr -ffrg.  4,1 u41flii v 	f' 	T c 

85. Aeroplane, Pilot, Sky 

	

1.  00 	2. 0 1.  

0 0  

	

3. 	 . 

85. 	6c1I 	uf 6Iuf, 141z1, 31WZT 

00 	2. 	0 

3.  CC-DDO  4. 

86. 	China, India, Asia 

CD 	 0 '0 
1.

2.  

00 	 4. 0 . 

86. 	)--, 	7-11-R-cl, 	.crftRTT 

	

1. 
	

2. 	
Or__P 

..._.) 

0 	 0 

	

3. 	 4. 

87. 	Introducing Geeta, 	Sita said, "She is the 
only 	daughter 	of 	my 	father's 	only 
daughter". How is Sita related to Geeta? 
1. 	Cousin 	 2. Aunt 
3. Niece 	 4. Mother 

""cio- 87. 	+nc-TT 4)1 7ft-44 	a y fi---dT A 4)61 14, 
4.) 	f0--ar 	4 	1,74,c-ilcilg--4t 	cA 	*cbc-lkil 	Vt 
t I" 	ac-IT 4)1 Tft-dT T1' s1(1,-'cT t 

	

1. 	(16-1 	 2. 	 1---41 

	

3. 	7-TMAI 	 4. 	-41 

Direction :- Read the following information and 
answer questions no. 88 to 90. In a certain code 
language. '481' means "Ram is intelligent" '246' 4  
means "Sham is Brilliant" "689" means "Sham 
appears Intelligent". 

ft-a-vr 	:-ft"Tf -fti-fc 	1i.1ct-)1)- 	ct))- 	q4 	7:' 	‘4,L,q41 

88 	90 	d4-) 	th. 	\3-k-H 	I 	c#-, -RtfttZ 	(--t 	7-TNT # 
, 'tTfl- 	'  g' 481' 	4)1 	3T 	‘fl f 	Ni 	246' 	OA 	3T 21 g 
T1T1 	TT- 	g' 	'689' 	ct-4 	3TO 	g 	114-( 	.f:'.,q-ITT9' 

04 101' 
88. 	What number is the code for 'Intelligent" 

1. 	8 	 2. 	4 
3. 	6 	 4. 	1 

88. 	Vt-Til-q' z fi (4-;) -la ,-NAI ci-. t 
1. 	8 	 2. 	4 

3. 	6 	 4. 	1 

89. 	What number is the code for "appears" 
1. 	6 	 2. 	1 
3. 9 	 4. 	2 

‘c14 101' 89. 	(-1>; 	i . 	ct-n-1 	1). 	sZ-k.-q-11 	cb).br 

	

1. 	6 	 2. 	1 

	

3. 	9 	 4. 	2 
90. 	The code for "Ram appears Brilliant" is :- 

1. 	921 	 2. 	461 
3. 841 	 4. 264 

'11-1 go. 	;n1TIVTR4). 	crilidi 	cPi 	(4) 	14 11 

	

1. 	921 	 2. 	461 

	

3. 	841 	 4. 	264 
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SCHOLASTIC APTITUDE TEST (SAT) 
q) 4 ?-401 trtur 

(QUESTION NO. 91 - 180) 
	 1-11 91 - 180) 

91. Rashmi is not able to see clearly a chart 
hanging on a wall at a distance of 3m from 
her. 	She 	is 	suffering 	from 	which 	eye 
defect:- 
1. Myopia 	 2. Cataract 
3. Glaucoma 	4. Hypermetropia 

91. T41t t4-13.  TR ricc 	tilJ 4 3 410 4 

, -%-itd -ibci tzKr izil 4) t I cl6 (6)-1 t .):4 

,141 t Ittd.  t :- 

1. 	r4M7 -i-f 	,)41 	2. 	ii)DqiNq 

3. 	coirti Iffff"41. 	4. 	v ifi 	)4 1 

92. The 	majority 	of 	Asteriods 	are 	found 
between the orbits of 
1. Mars and Jupiter 
2. Saturn and Uranus 
3. Jupiter and Saturn 
4. Earth and Mars 

92. 

2. 	 9-ii  

3rOTT`4T§--01-.  *--14 3) ft3i 46) 4 	.aiI 
fN.  trrtr ,ila t - 

1. 	i-i+iri •4 1-6-4 
t 

3. Wtift q Yi1  

4. IPA 	4-i4ief 

93. Range of clinical theromometer is:- 
1. 45°C to 55°C 	2. 35°C to 42°C 
3. 28°C to 35°C 	4. 20°C to 25°C 

93. (tellf ,t)I 	-11 	wswr 	24-4-41 	(61 	o1451,1-1 
'WM coil tt t? 
1. 45°C to 55°C 	2. 35°C to 42°C 
3. 28°C to 35°C 	4. 20°C to 25°C 

94. Which of the following is a contact force:- 
1. Magnetic Force 
2. Gravitational Force 
3. Electrostatic Force 
4. Frictional Force 3. 	ft-217 tlgo qc-i  

94. f ,.-1 14 t (6)-1 TiT Eiri TTP:1- 	ciei t? 

1. 	'gRT-4-zi (16 
2. 	VccilqAui qei 

4. 	qt1.1 clo 
95. In a solar cooker which of the following is 

responsible for cooking the food. 
1. Infrared radiations from the sun 
2. Visible light from the sun 
3. U V radiations from the sun 
4. Gama radiations from the sun 

g5. .zN ct?‘(.h1 # A--- 	Thl t 	1 R 	1*.-1 

-4 t ct-A-i .ivkqtell t - 
1 	-q,ei 3-)-  3T-4 qr-A 3T-q-To- 	v.  

O 	4  2. 	T 	t 3IT 	ciiriiv1 AM-NT  
31T4 	T-41.  U V 	i4), t 3. 	 4 .q,e1 t 	 n 

4. 	TO t 31-1-4 qtr* 4 iiiii 1- 14,04 

96. An object is vibrating at a frequency of 
50Hz, What is its time period? 
1. 	20.0s 	 2. 	2.0s 
3. 0.02s 	 4. 0.2s 

96. lq cii-ci 50Hz t 3T FP t cw-4 -̂f 	--R• •RA" 

t I **1 WI 3iicic1 	coiri 	cV4I 	61+Ii? 
1. 	20.0s 	 2. 2.0s 
3. 0.02s 	 4. 0.2s 

97. The tremor produce waves on the surface 
of earth. These waves are recorded by an 
istrument called 	 
1. Seismograph 	2. Electroscope 
3. Lighting conductor 	4. Ritcher scale 

97.  1p-Tcr - ' $idcp.  t upt * mr-d-a.  ER 044) 
3c-t-i ,--iZ.)-t 	t- 	*.-i 	04 4 11 	co) 	ft -Ti 	ei-A 

gm 34-ft--  ft-zrr .fficii t - 
1. 	Vil:MZ41- 	 2. 	Nciq4 

3. 	f4Sa -ciirict) 	4. 	ita-- R• ITEMT 

98.  Water kept in a container under hot sun 
rays gets heated after some times, this is 
done by the method of :- 
1. Convection 
2. Radiation 

. 3. Conduction and convection 
4. Conduction 

98. f5 odri 14 	.qt.  ri-rt ,q, 	4 	1- (4.) uii  31 

ci2to TFIT1 ii4 1T4 ef utiot * I 	q6 	1-,--1 
t f -RT f4f4 u-R-r 61fli :- 
1. 	,t-ci6-i 	 2. 	W4)vi.  
3. 	T-11c1-1 	.4 	s -ic-16.-i 	4. 	tileM 	- 
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r 99. A child is standing in front of a magic mirror. ' 
he finds the image of his head Bigger, the 
middle portion of his body of the same size 
and that of the legs smaller. The following is 
the 	order 	of 	combination 	for 	the 	magic 
mirror from the top is 	  
1. Convex, concave and plane 
2. Concave. plane and convex 
3. Plane. convex adn concave 
4. Convex, plane and concave 

99. Lib 	q-cr.41 	uils• -q-ch -e:-)-  TiPi4 U'T t I 	3,4 
311-0 	f'97 	cm 	,-,4 	cli, 	ii 	-f 	1-T-Fr 	ct)i 

114ii-1 3114)i4 ct)i dzfr ti4 135)t-  ftur- 	ket 
PifiZ5c-f 14 3-)- 	14),Zi 	50 4-1 14 	,iti 	-cl-al 

it-R. .R.-)-  t QV) t I 

1. 3-cic,1, 31-4T6. -MIT ,14-1c1ei 

2. 34-4-d-F, 	4i 4-10c1'2TT 	3-(-1(1 

3. 4-1 410 ri , 	\i -0 ci 	cf2TT 34-a-d 

4. 3-c-1(.1, 	TRicld 	-(1-21T 31cic1ri 

100. Which of the following properrty does not 
change when light travesl from one medium 
to another. 
1. frequency 	 2. wave number 
3. wavelength 	 4. speed 

100. fAr- 	if 	31--i •-l't Wiwi' it ciqocil uio 
A-4)m 	ici-) 	TfRzfri 	0 Trrum 14 -Frit 
cf)401 t I 
1. 	317-0 	 2. 	04 4 1 	4-1L.Li 1 

3. 	04 41 e0I 	 4. 	-cild 

101. In which of the following Instruments lenses 
are not used. 
1. Simple microscope 
2. Compound microscope 
3. Reflecting type telescope 
4. Astronomical telescope 

101. 1-1-- 	li 	.r-T 	-4 	el ' -f 	ci-)1 	ci-z1)-TT 	9-61 

&cif I 
1. T-1T---Zil (i-RITT0-r) 
2. #Ej- T T-71---4711 

3. LI-RT- 	tR 31Tqlftc-f V441-9' 

4. 41)(-NTi 

102. A pressure of 40 N/m2  is applied on 100rnz-  
Area find the force on this area? 
1. 4000N 	 2. 400N 
3. 40,000N 	 4. 40N 

102. 40 N/m2  M-1 lcb 	qici 	100ma--)--14c 	144 

cl 4 IH-41 	,III 	, 	cl) 	0 	---1:FF 	EH 	cirf 	T:11 

6)411? 
1. 4000N 	 2. 400N 
	 3. 40,000N 	 4. 40N 

103. The 	lowest 	temperature 	at 	whcih 	a 
substance catches fire is called 
1. Kraft temperature 
2. Absolute temperature 
3. Ignition temperature 
4. Boyle temperature 

103. -Tg Wf c114 ftRi uRT-41-2I 3IPT 

1-1cc17 	u1c-1,) 	c14 101 t q-zrr (b6dior t? 
1. 	st)lt-tt 	.ffiti 	 2. 	7-411 	c11t-1 

3. 	uclel--1 	11-1 	 4. 	cl-kid 	dig 

104. Which 	among 	the 	following 	is 	a 
thermosetting plastic? 
1. 	Bakelite 	 2. 	Polythene 
3. PVC 	 4. rubber 

104. i- I---1({Z.10 	-4 	tcb 	cfPT 	ff-i-q 

(2-7i-1--Tr) tolfZ-dct) * I 
1. 	act\-)eii*d 	 2. 	izi'ff 	2, 
3. 	it. t. 4 	. 	 4. 	4cH 

105. The 	synthetic 	fibre 	used 	for 	making 
parachutes is 
1. 	Polyester 	 2. 	Teflon 
3. 	Nylon 	 4. 	Acrylic 

105. 1)- 	-1 14 	, 43).1 TT TI:1:f 	Tf 117T‘Z c1-11,) 
14 ATI-4TE 61or *? 

1. 	1-1)1-t 	 2. 	'cr--M' 

3. 	-P-1(1-1-1 	 4. 	l 	1c-f) 

106. Artificial silk is known 

	

1. 	Nylon 	 2. 	Orlon 

	

3. 	Polyester 	 4. 	Rayon 

106. T'' ^"' Ri--- 	cb) F-71-  ;TM t ull-11 uildi t? 

1. 	-11L1A-I 	 2. 	31-krrl-1 

3. 	1-1)c.Nst- 	 4. 	tzth--  

107. Which of the gas has the highest calorific 
value of fuel? 
1. CNG 	 2. LPG 
3. Bio gas 	 4. Hydrogen 

107. ( 4-•-iffZ.qo 	-44 	- 4 	-%Ti. 	-1M 	cm 	3s4rzi 	4-II11 

4-ici4) 3t1-T t I 

1. 	CNG 	 2. 	LPG 

'31cr 3. 	1,H 	 4. 	61:4u1-1 
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108. 	When a copper vessel is exposed to moist 
air for long time, it acquires a coating, the 
colour of the coating is 
1. Yellow 	 2. Brown 
3. Red 	 4. Green 

108. ulci 	cb-luk 	qd9- 	ct)) 	--474 	TiTRI 	act) 	---T4 

-,-,-pll "M 	-4 -q---o-r -R-ur 	vim! 	t 	--,zi uR 

.crR--a 	cm 	Ot 	ci- ).-i 	,-ii 	Ocii 	t? 

1r 	 2. 	Ti  
3. 	Old 	 4. 	6,I 

109. 	The 	chemical 	name 	of 	baking 	soda 	is 

1. Potassium carbonate 
2. Magnesium carbonate 
3. Sodium carbonate 
LI 	Sodium hydrogencarbonate 

109. -4FO-T 	,111 	(N14 	4)1 	%-1)1) 	ci)1 	,M-1R4 	4> 

-1H-E 4--ar t I 
1. 1:4-8NP4TT ct)icN 

s  2. , 	H-1 4-i 	cr)ici .  

3. 11)1. -1 4-1 	ct)1(11.)d 

4. fl I-lq 	614 u1--14)1(411 

110. 	Which 	of 	the 	following 	process 	is 	not 
responsible for global warming? 
1. Photosynthesis 
2. Deforestation 
3. Combustion 
4. Volcanic eruption 

110. 1 ,--ifiZ.qcf 	-4 	--)- 	ct>1.-1 	,4-1) 	Ai----zil 	f44ZU 
thtur-i 	\3\--Nqi4 	--et t? 

1. qc4-)M 	,4-1WiNu1 
2. ci-i)-V-I 

3. ,-1 
4. uciiciT101 1. c:', 

111. 	In the reaction 
Sulphur dioxide (SO2) + water(H20) ----0- 
product. The product is 
1. H2S03 	 2. H2SO4  
3. HCI 	 4. HNO3  

111. 1 --4' s&a-ar -4 \3-c-Lifq -aar cmcit t? 
, --ic-4-), 	61044T1-10 (SO2) + Ti16 (H2O) -÷ 
3c-t-Il< 
1. H2S03 	 2. H2SO4  
3. HCI 	 4. HNO3  

112. 	Which of the metal hydroxides are used as 
antacids? 
1. Al(OH)3, Mg(OH)2 
2. Fe(OH)3, Mg(OH)2 

. 	3. Al(OH)3, Fe(OH)3 
4. NaOH, Al(OH)3 

112. ftlf 	44 	4;1-1 	UTI 	61 -14•4-11*. 	crn 
Rf3p-ei 	,04 -4 qzs--otr f-  ,flor *? 
1. Al(OH)3, Mg(OH)2 
2. Fe(OH)3, Mg(OH)2 
3. Al(OH)3, Fe(OH)3  
4. NaOH, Al(OH)3  

113. 	Rust formed on iron is an 
1. Acidic oxide 
2. Basic oxide 
3. Amphoteric oxide 
4. Neutral oxide 

113. rill LR ftlifra 'i4 1 g - 
1. 3p,Azr 311-affro 
2. all-tt-4 3rT-aTiT 
3. 37T-61.qA 3ri cm i* 

4. \3q Al 44111*5 
114. 	Weedicides should be sprayed over crops 

1. During vegetative growth 

2. At the time of flowering 

3. At the time of seed formation 	 . 

4. At the time of harvesting 

114. a 	lc 	• 	col I:D3-TO) IT3 fb 1M-1-4 cm-ti 

-1-ftR 

1. 1-ft * ,W-R1 
2. litscrUT 	,d41Ri 
3. -4)-- 	cfri.) 	,4-1 4-v-i 

4. c.t) 	s4-14-H-1 

115. 	Choose the oil secreting glands from the 
following. 
1. Thyroid gland 
2. Pituitary gland 
3. Sebaceous gland 
4. Endocrine *land 

	

3. 	-0d" -TA  

115. f44 1. 	) 	c)e-1 TITraff cM,) qi-jt 1-ti 	ct.)1 -q.) I 
1 	2TRITIO 
2. 	tqcf -fl.-  

---' 
4. 	3i-av-r1 -J-if 

116. 	The largest cell is of 
1. Bacteria 
2. Neuron 
3. Egg of ostrich 
4. Egg of blue whale 

116. , -ici,i-i 4 	-D-T--T t - 
1. IT-49 
2. -d-ftWf 

3. T 	ci-)1 313-1 

4. cc.kcc-1 	4)1 	3t ---T 
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117. 	is the beginning of new individual. 117.  	') 9  (.44Re 	ITNIT t• I 
1. Egg 	 2. Sperm 
3. Zygote 	 4. Embryo 

1 	3i-49 	 2. 	Th-Tuj 
3. 	vi-ivi 	 4. 	T 

118. 	Mitochondria : ? : : chloroplast : sugar 
1. Fat 	 2. ATP 
3. 	Starch 	 4. 	Lipid 

118. 	IllaCt)iil : ? : : 	ctrik)t-ell*t : T17 
1. 	cN-11 	 2. 	fi 	It 
3. 	*el-4 	 4. 	cf 	1.L  

119. 	In which of the following method of irrigation 
rotating nozzles are used? 
1. 	moat 	 2. 	Drip irrigation 
3. Chain pump 	4. Sprinkler system 

119. 	f419' -4 -4 4-i A R-4-m-4 fir # 'ET-9-4 uk-4 
-'i 	9-cr-q)-Tr ft-zrr \An t? 
1. 	4-1)t 	 2. 	rOcf 6:I 
3. 	- .-i 	*I 	 4. 	1- coic( 	ci-A 

120. 	The farm appliance 'combine' is a combined 
1. Plough and harvester 
2. Seed drill and thresher 
3. Harvester and thresher 
4. harvester and sprayer 

'04 120. 	ci \3t-14),M 	-611*-1.  3-4-Totr "Mu t 
1. 	6c121-1 60.*t 	WI 

iii3' 2. 	1:--6" •UP-TT ?..47H 
3. 6I4* 	P-T1'  R.)717 

-WI 4. 611,4-t, 	-2.11- -T4zR 

121. 	Red data book keeps the record of 
1. Endangered animals and plants. 
2. 	Extinct animals and plants. 

Endemic animals and plants. 
4. 	All birds 

2. 	1:4TT1 vfrg 3tYR• 410
3. 

121. 	\el 	c 	# - M-1" itl-g TT \riicll t 
1. 	s4-ict)ei4-i v1-q 3t1" 	ltst 

3. Witt a)-41 ,-1•11 31tttlz-t 
4. i'lft Eff4z1I wr 

122. 	The first forest reserve of India is 
1. Satpura National Park 
2. Panchmarhi wild life sancturary 
3. Bori sanctuary 
4. Corbett National park 

122. 	1TR-0-  MI rf2i 3T-RfUff -a9-  t 
1. 'flow Trs& \ivi--1 
2. 1-1-ciii41 c.N-T vig 341-747u4 

' 	•4\ft 	-TITTY4 3. 3P 
4. chic d 7Tta4 \isit-i 

123. 	The 	dough 	containing 	yeast 	rises 	and 
increases in its volume because of 
1. 02  gas produced by yeast 
2. CO2  gas produced by yeast 
3. N2 gas produced by yeast 
4. H2 gas produced by yeast 

123. 	zNZ 	( 	4R) 	ciicrii 	flcl 	1-,,c,i 	cfr 3TREd-9" 
f4 cmoi t -4-all 
1. 4r-{Z 02 	4,-r EfrilcIT t 	 • 

2. CO2 	4,  -r cfruoi  zfriZ 	 t 
3. 	zil--Z N2 	,Z1 	cfrildi t 
4. 	ZIITZ H2 41 (HMI t 

124. 	'Rust of wheat' is a disease caused by 
1. 	Bacteria 	 2. 	Fungi 
3. Virus 	 4. Algae 

-4)( 124. 	4 ,t'' %< ,r trt t 
1. 	1--aruj 	 2. 	ct)cict) t 
3. 	144-1111 t 	 4. 	taTa 

125. 	Which 	of 	the 	following 	is 	used 	for the 
production of alcohol? 
1. Bacteria 	 2. Yeast 
3. Protozoa 	 4. Viruses 

125. 	(--ct))6c1 * 	3NN-1 4‘-ict>1 3g-Z1)7T FR:1-T 
viicii t? 

'r-aruj 1. 	 2. 	711RZ 
3. 	cit-drair 	 4. 	itEfT131 

126. 	If 	
(3)0.1 x  (81.01 x  i--‘0.9 

(3) 	X (8 4).49  = X + 1 

then the value of x is 
1. 	3 	 2.9 
3. 26 	 4. 27 

126. 	tft- 	(3)" x (80' x (3)(19  X (8 00.49  = X + 1 

x Thl 4-iv! 	: 

	

1. 	3 	 2.9 

	

3. 26 	 4. 27 
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127. If the radius of 0 circle is increased by 5%, 
then the area of the ring formed by new 
circle and original circle is x% of the original aqcb-F, 
area. The value of x in percent is 
1. 	10.25% 	 2. 10% 
3. 5.75% 	 4. 5% 

127. 	TIR.  lch 	cid 	cA f -czT5-  T cr)) 	5% 	clq,q1 uiN 

-0 11-1 47 ii6 qvi gm u.) zi-- 	m-r 

lei a)7b-F wr x% t I x 	--T iii-f 

Ard71U 14 t - 
1. 	10.25% 	 2. 10% 
3. 5.75% 	 4. 5% 

128. 

• 

AB 	is 	the 	diameter of the circle 	in the 128. ni-i 317M- -4, AB cici TT WT t I 
following figure. 

An. A 
moo_dA 	 B mop.- 0-Nip 6 

.4*.. 	E 

ip 12, 

C 	 E 

The value fo y is 	
D 

1. 	216° 	 2. 	144° 
3. 288° 	 4. 	108° 

D Y wr Trm 614Il - 

	

1. 216° 	 2. 	144° 

	

3. 288° 	 4. 	108° 

129.  If each interior angle of a regular polygon is 
thrice of its exterior angle. The number of 
sides of polygon is 

	

1. 	6 	 2. 	8 

	

3. 	5 	 4. 	10 

129. 	TA f+-iit 71-iNglp TT 	cA 	c 31-- : co uT, 
q-r--zi 	T\ftrt .--t 	cil-r 	tt.if tTql-p 	4,1.  

cgcri 'IT {R t:  

	

1. 	6 	 2. 	8  

	

3.5 	 4.10 	
• 

130. If the ratio of S.P. to C.P. is 11:10, the profit 
percent is : 

	

1. 	0.1% 	 2. 	1% 

	

3. 	1.1% 	 4. 	10% 

130. 	qR ro--ffq Ti-R:f 30 mq 	tc--0 14 &TIM 

11:10 * .th 	-rl-T wfm-I 	61iir : 
1. 0.1% 	 2. 	1% 
3. 	1.1% 	- 	 4. 	10% 

131. The average of six numbers is p and the 
average of first three of then is q. 	If the 
average of remaining there is r, then the 
relation between p, q and r is 
1.p=q+r 	 2. 2p = q + r 
3 	p = 2q + r 	 4. p = 2q + 2r 

• 131. 	U: 	•-k-cz1134 	T 	3frii- 	* 	3fi7 	\3-I 

1:1--A.  t9. ,(-kszI 131) TT 3T)3i-U q t I Tift 	11.  
ri ,-icczil4' TT Aici "ff .6"). 	p, q U211 r 
fli-(4  14  

1. p=q+r 	 2. 2p = q + r 
• 3. p = 2q + r 	 4. p = 2q + 2r 

132. If a and b are the lengths of the sides of a 
right triangle whose hypotensise is 10cm 
and area is 20cm2, then the value of (a+b)2 

is 	: 
1. 120 cm2 	 2. 140 cm2 

2 3. 160 cm2 	 4. 180 cm  

132. 	'Ifs 	a 47 b 1  P 	.-P-ict))ui '1'1- " u61 11-* 
t Dv ticPl 	cOul 	10 .)410 * 34R.  a.)-- cfrO.  20 
ciii 3)-410 t 	(a+b)2  TT 111-9 OM 
1. 120 cm2 	 2. 140 cm2 

3. 160 cm2 	 4. 180 cm2 

133. A cone of radius x and maximum height is 
carved out of a cylinder of radius r and 
height h. Ratio of squares of curved surface 
areas of cylinder and cone is 

1. 4/2 : 
(11 2  + 1.2) 

2. 3/72  :(/72  + 7.2) 

3. 4/7 2  : (2/72  +27-2 ) 

4. 3/72  : (2/12  + 2r2) 

133. 	lch 	el-1 	f'-R1-- 	3TTUT7 	Thi F*aff 	r 	Mil 

3;-cii 	h 	t, 	A 	.0 	31-14w-oil. 	d;T-II 	UKT 

iiiii-f 4.t1T7 ft -R:fT .TTict), (wart 31-61T 
ftzfr ulidi ti 	c,i.-ir 3117 .zq 	cia, TzPrzi 
alcb-- ) 	4411 W-  3TTITff *: 

1. 4/7 2  : (h 2  + r 2 ) 

2. 3/72  :(/72  + r 2 ) 

3. 4h2  : (2/72  + 2r2  ) 

4. 2  : (2/72  + 2r2 ) 
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134. Rs. 2700 is divided into three parts such 
that half of first part, one third of second 
part and one fourth of third part are equal. 
Then third parties. 
1. 	Rs. 600 	 2. 	Rs. 900 
3. Rs. 1200 	 4. 	Rs. 1500 

134. -1--P',1 	2700 	cu') 	c11-1 	1411-ft 4 	*'fi 'clTh-R 	(gel 

'MI 	fc 	1:F FT 	c1 	3I1-1T, 	ci,,d 	1--rm 	cpi 
'N-i---  .-) 	ffi-tt 	u2Tr 	1-Trrr 	wr 	-) 	12-1-r4 

' 	cNicN t I t-T171 7]TTF t : 

1. 	• 71-?4 600 	• 	2. 	.cRI 900 

3. 	Tc0 1200 	 4. 	' 1:1-ti 1500 

135. Kartik can finish a work in 25 days and pure 

can 	finish 	it 	in 	20 	days. 	They 	worked 

together for 5 days and Kartik left the walk. 

Puru can alone finish the remaining work in 

1. 	11 days 	 2. 	10 days 

3. 9 days 	 4. 15 days 

135. TFO-T 	r) 	WA 	'1' 7131- 	c..-). 	f 	25 

ft9-  4,1 TITRI c)c-11 * 3117 -s- 	-o--#r wr4 4 
TO ct-).) * fr 20 ft9-  W ,t-ii-ig (-)c-ii t I 

‹).-iI 	5 	r4-9- 	-) 	'ff121- 	ci->c) 	t 	3N 	fb- 
e---  TIMI 	kr1101 t I -r g3i-r m-pl ---d7'1 

ft-q 14 ri ct) 4 ii : 

1. 	11 	1.-1 	 2. 	10 	R.-i 

3. 	9 1-4-1 	 4. 	15 fkff 

136. Two 	dice 	are 	tossed 	sionultancously. 
Probability of number appearing on second 
dia is greater than the number appearing on 
first die, is 

1 
1. 	

I 

4 	
2. 	- 

3 

1 3. 	5 _____ 	 4. 	- 
12 	 2 

136. --).  71-4- 	ct) 	•-) 	TiT21" 	th--1 	viicii 	t I 	co 

Itit 	TR 	qii-ci 	1i 	ii 	1:10 	111'4 	t 	Vicff 

,4-kA 1 -)- 	),) 4 qlq14>or t : 
1 	 I 

1. 	- 	 2.  4 
	

i 

. 	5 	 1 3 	__ 	 4. 	-- 
12 	 2 

137. Seven years ago, at the time of marriage, 
average age of husband and wife was 25 
years. Today average age of husband, wife 
and their son is 22 years. Age of son is : 
1. 2 years 	 2. 3 years. 
3. 4 years 	 4. 5 years 

137. 111cf 	ci 	Li, c, 	Y114 	* 	TI-9-zi 	Eff4 	.ff2,TT 	14-- 

Thet ATff 3111 25 (14 011 I 311- 	tit, 1:11 

2-TT 	\i-ici) 	V •`'I 34R-fd 31N 22 	citl 	t I 

p 4 	jt : 
1. 	2 	Citi 	 2. 	3 	citi 

3. 	4 citi 	 4. 	5 cri 

138. By reducing the selling price of an article by 
Rs. 50, a gain of 5% turns into a loss of 5%. 
The The original selling price of article is: 
1. Rs. 500 	 2. Rs. 525 
3. Rs. 550 	 4. Rs. 510 

138.  ft-Al 	ci*g 	• --T 	"it -zi 	IIFT 	Ttit 	50 	col-i 
cp 	TR, 5% 	-MIT 5% 4 Z-A 14 	- 

,iicir * I us4cl wr vi rdm-zr it t : 
1. 	T:ftf 500 	 2. 	. -14?:1 525 

3. 	Tclt 550 	 3. 	Wolif 510 

139.  
2' 	32 

If 2' + - = -, then value of x is: 
3 	3 

	

1. 	1 	 2. 	3 

	

3.2 	 4.4 

139. 
, 	2` 	32 	,. 

tn-  zx 	
3 	3 " 

+- = - 	cil x m-r ,11.4 t: 

1. 	1 	 2. 	3 
3.2 	 4.4 

140. If x-v 	= x.vz  , then 

1 
2. 

140. zfft 	x-v-  = X):  , c • 

1 	
. 

1. 	 2. .1. 	y= 	
-I 	

y = z 

1 	. 
3. 

	

	 4. 	= z= z:  

y= 	 y = z 
(21-1 

1 
3. 	 4. 	= ( v- i 	 y y

) 
z = 	 y 	z- 

(Y)
v-i  
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141. The value of Ka% of b)+(b% of a)] 

1. (a b)% of a 	2. a% of 

3. (ab)% of b 	4. 2% of 

is : 

ab 

ab 

141. [(a% of b)+(b% of a)] 

1. (a b)% of a 

3. (ab)% of b 

f liT9. 	6 +ii 

2. a% of ab 

4. 2% of ab 

142. The value 

( d 	b)s  

3 	3) 

a + b 
1. 

+( 

+c 

	

b 	c)
3 

	

3 	3) 

+ ( c - Gi .)
3 

3. 	3) 

2. 3abc 

of 3  

is 142. 
b 

(

d  
3-3) 3 	3 

a+b+c 
1. 

3  + b 	c 	+ c _a 

3 	3 	3 	3 

2. 3abc 

3  mi. 	,iiri,  

3 
(cr - b)(b- c)(c - a) 	abc 

3 	 4. 

3 
(a - b)(b - cXc - a) 	abc 

9 	 27 
3. 	 4.

27 9 

143. 	4. 
i 5V72

,2 + (2161i = 	0.  Y TT  9I-1 y, 5 - v -7./ 	„ i 

\ 

1. 	5 

3.4 

00)22- 

2. 	
5 
? 

4.3 

143. 	If 
\ 

of y 

1. 	5 

3. 4 

2 1 6)3 

011f 
 

i 	+ 	= y, 	then the value 
(50)..-i 

is 

2. 	-
5 

2 
4..3 

144. 	The greatest three 	digits 	number whcih 
when 	divided 	by 	2, 	3 	and 	5 	leaves 
remainder 1 in each case is :- 
1. 991 	 2. 998 
3. 990 	 4. 996 

144. 	cII-f 	31I1 	c6 	•-iq 	4r 	,wszii 	'1:-4 	2, 	3 
'1:31-1 'ff2TT 5 	 cM4 ri- 	Win.  14 	. 

1 	)ti 61-k t - 
1. 	991 	 2. 998 
3. 990 	 4. 996 

I 
145. If 	999 - + 999 -

2 
+ 	 + 999-

6 
= a, 

7 	7 	 7 
then the value of a is 

	

1. 5994 	 2. 	1000 

	

3. 999 	 4. 5997 

. 145 	uk 
I 	 6 

999 - + 999 	+ 	.+ 999 - =a, 
7 	7 	 7 

a 	i TIN 6) 4 II : 
1. 5994 	 2. 1000 
3. 999 	 4. 5997 

146. 	Which animal was used in ashvamedha 
yajna? 
1. Horse 	 2. Cow 
3. 	Elephant 	 4. 	Lion 

-Ti.  146. 	317-014E1 	3TR4--- 9.  # ft kr11-1(V chi 
wil-rr 61di arr? 

	

1. 	th-qr 	 2. 	-471 

	

3. 	. -Rif 	 4. 	),Z 

147. 	At which place Buddha died? 
1. Gaya 	 2. 	Lumbini 
3. 	Delhi 	 4. 	Kusinara 

147. W chrl 1M '1 -T1 W-TT9.147 	-? 
1. 	4 iLii 	 2. 	ezqt 

.r4--- t 3. 	 4. 	(t)11.-iki 

148. The height of Iron pillor at the premises of 
Qutub Minar in Mehrauli (Delhi) is - 
1. 	10.2m 	 2. 	8.2m 
3. 7.2m 	 4. 9.2m 

148. 	ITO-A 	( Tjr- 	) # 	7 ITI- TR" 170317 -4 
W-4 ei)6- 1T 4 \i,"-ii 	t i 
1. 	10.2 TN 	 2. 	8.2 Tft. 
3. 	7.2 1TM 	 4. 	9.2 to 

149. 	Reign of Mughal emperor Akbar was --- 
1. 1555AD-1605AD 
2. 1556AD-1605AD 
2. 1556AD-1606AD 
4. 1555AD-1604AD 

149. 	TTF fl 	mid 31-Wq-R Th-T 	IN1-1 4)16 qT - 
1. 15550-16050 
2. 1556.40-16050 
3. 15560-16060 
4. 15550-16040 
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150. Abut Fazal wrote Akbarnama in 150. 31q6 1:F7Aa- 	3W4T-1PIT  	_iu 	14 
volumes. 

	

1. 	3 	 2. 	4 

	

3.5 	 4.6 

fli 	I 
1. 	3 	 2. 
3. 	5 	 4. 	6 

151. Peer word belongs to which language? 

	

1. 	Hindi 	 2. 	Gujrati 

	

3. 	Persian 	 4. 	Sindhi 

15i. 1.117 14-,-,zi 1  Hai cbTTR-4-  g? 

1. 	f---8- 	 2. 	Ti,••RT-61 
3. 	lb-Mt 	 4. 	14i4i 

152. 	The tribe of Birsa Munda was related to 
which region? 
1. Deccan plateau 
2. Maharashtra 
3. Gujarat 
4. Chhota Nagpur Plateau 

	

2. 	1  FSRN  

152. ft--CT l•--T TT kririviidIzT wkt,  f+-Ti &--)- 	tl 
.i4f4-a ez? 
1. 	q%uI cl ri6R 

3. V•ffff 
4. u5)--dT 	11r-cs1 WI VOR 

153. Who is known as "Sher-E-Mysore"? 

1. Haider Ali 

2. Tipu Sultan 

3. Krishna Raja Vadiyaar • 

4. Damodar vadiyaar 

	

1. 	31A 
 

153. ""T--R--113V-  W. 	1111 	31 	-0-I 	TJ1T9T 	uffilT 

g-.? 

2. 	ell tcTII-1 
3. VoTT Tit cin-qH 
4. <1,11q 	qT•itqs 

154. In 	which 	year 	did 	Britishers 	defeated 
Marathas and took control of Delhi. 
1. 1802 AD 	 2. 1803 AD 
3. 1804 AD 	 4. 1805 AD 

154. f• <•qT 	41N1S1 	6•flci-) 	-RT,41 	1TR 

f -P4.--;iui f -Ti 44 ii i'-zri? 

	

1. 1802 0 	 2. 1803 	0 

	

3. 	1804 40 	 4. 	1805 	0 

155. At which place did the last mughal emperor 
Bahadur Shah died? 
1. Rangoon 	 2 	Delhi 
3. Agra 	 4. Kanpur 

155. . •11-  31f 	111 	Tylci 	TiOF 	(.461V 	Thcl 	rj-N 

f -Ti •-1-Fi tr 	? 
1 	sik-i 	 2. 	r'r--A 

3. 	311ik1 	 4. 	TT9rg 

156. 

' 

Which of the two gases make up the bulk of 
atmosphere? 
1. Oxygen and carbon dioxide  
2. Oxygen and nitrogen 
3. Oxygen and hydrogen 
4. Nitrogen and carbon dioxide 

156. qr-glisri 	TT 	(-W 	•rfriT 	14-Pf 	41 	ilfl'i 	t 

f4FTh-- 	(HI g? 
1. 311-ER11‘3M 3n-R' cf-)14-i3TRN-11* 

2. 3r19.  31-1-, 	,-ii 	Qi-f 

3. 31I(NNi11 3112 	11ul.1 

4. -11*Oviq 31TR.  cpicilsi3iT431TO 

157. Which of the following metallic mineral is a 
ferrous mineral? 
1. Manganese 	2. Copper 
3. Gold 	 4. Lead 

157. h+-ift4ftff Ulfk 	•Zif• fUrt 1) 	'a 	4/-1 	TIT 

At', 	Kr.ffi-- 	g? 
1. 	A 41-ilvi 	 2. 	clkfi 

3. 	-11-i i 	 4. 	3-NiT 

158. What is the sun? 
1. A meteorid 	 2. A star 
3. A Planet 	 4. A galaxy 

158. VI WIT *? 
1. 	7W kier-PiNs 	2. 	cr-) ciki 

3. 	.ci,  1T 	 4. 	-) 3i!c.t)m 	1i4ii 

159. Which of the following is the largest ocean 

in the world?. 

1. Atlantic Ocean 	2. Indian Ocean 

3. Pacific Ocean 	4. Arctic Ocean 

159. fftiftsi-cl 	ii 	31 	cil-i 	3iT 	f-4 -0 	WT 	,1cH\-1 

(I.% 4-161,z114k t 
1. 3iriii?.ci-) 	4161fl1iH 
2. 1-7--4 	4-161t114k 
3. ',miJ 	1-1611-IIITR 	 . 
4. 31i 	1c-r-) 	4161,th4R 
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160. 

161. 

162. 

• 
163. 

In whcih type of areas is terrace farming 
done? 
1. Plain Areas 	 2. Coastal Areas 
3. Mountainous Area 	4. Forest Areas 

160. 3TrerTiT Rhc-11 i --9.  3.Q11.9). 1-47 c6) 	1-01-  g? 

1. 	i)--a-4t 	-)1 	 2. 	-ffe13:1 

3 	.cl-gf4a-)- 	 4.  

Which of the following sources of energy is 
not fossil fuel? 
1. Coal 	 2. Petroleum 
3. Natural Gas 	4. Solar Energy 

161.  

162.  

ftifirRsicl. 	T4 	34 	\iuii 	ct)I 	cr;)-1 	,Z-II 	tic 

ul)c1R4-1 	'zi9 	-jef g? 
1. 	.45izM 1 	 2. 	if`rT 

3. 	.C1.10c).(1-) 	il ,d 	4. 	34t3. 	\-3kril 

What 	is 	shifting 	cultivation 	known 	as 	in 
North-East India? 
1. Ladang 	 2. Mixed farming 
3. Jhooming 	 3. Milpa 

- T-F9.ki-N.  Of co) 	3-ck- 	liffd. .4 i -Ti 

-111-1 	34 	.-TIFFI. 	kylicil 	P 
1. 	T11-01 	 2. 	ftfkff TN 

3. 	.114JT 	 4. 	firFIT 

Which 	of 	the 	following 	layer 	of 	the 
atmosphere contains ozone gas? 
1. Troposphere 	2. Stratosphere 
3. Ionosphere 	 4. Exosphere 

163.  --3.-i ci1T-5(-1 	Zt f .ci.3 	-4 	311 1E14,41 	4 
31.z171 uff.d.  to 	-r-idt g? 

1. 	4114-i5c1. 	 2. 	WI-FdT1  

3. 	31.1491-tra. 	 4. 	4F611-i sri 

164.  Which of the following country is leading in 
coffee production: 

	

1. 	China 	 2. 	Brazil 

	

3. 	India 	 4. 	Pakistan 

164. ic.z.1 	I) 	-(tri 'CM 	431 	311;1141 	\30-11<4 	tkT 	c1- 1.1 
31T g? 

1. 	- 1);-1 	 2. 	Ullt 

3. 	liko 	 4. 	11114)-c-iiri 

165. 

166. 

Grass lands of South Africa are called : 
1. 	Prairies 	 2. 	Veldt 
3. Downs 	 4. Pampas 

165.  4Wu1 310.05T Z1 	'ENT .4fRt cb--1 f5i .1141 

34 krivii v1101 g: 
1. 	1)-4t). 	 2. 	Ue• 

3. 	5I\4'1 	 4. 	1111:1T .  

Which Article of the constitution envisages 
free and compulsory education for children 
upto the age of 14 years? 3ffkorzl 
1. 	Article 32 	 2. 	Article 19 
3. Article 45 	 4. 	Article 31 

166.  #itT.F9. 	"W{-1 3 -1-1-4q * 3i 	TM.  14 citi 
oco 	3i1 	ci-G-r-4 	f 	f:1-- 	UP-1T 

%F.TI -c15-1 cri-dium t? 
1. 	3I.TE4 32 	 2. 	31.-1.4q 19 
3. 	31TEE35\4q 45 	 4. 	311-rA4 31 

167. The President addresses both the House of 
Parliament assembled together during: 
1. Emergency session 
2. Every session 
3. First session after each general Election 

and the first session of each year. 
4. Any session. 

167. -3.Ttr.caf 	,-1,-1‹ 	* 	),- 	,z-i<-1) 	51 	37q)-14-d- 
cmCi g 
1. 311t-ilcicTI.a• 	U%.I 	14 
2. 1;1-cif. 	sz-I-A 	14 

3. .W-t' 3TM 5-1i0 .ff2-TT flirt * CRITI.  
oct-) 	14, 

-4 4. F+71).  t fl-)1 
168. 	When was 'South Asian Association for 

Regional Co-opration' established? 
1 	1985 	 2. 	1980 
3. 	1995 	 4. 	1990 

168. . -rUuT 7itz4 atzT TTORtiT 1i1i69 (t-ii )) 
4 7P-IFEFTF (1,ci §P 

	

1. 	1985 	 2. 1980 

	

3. 	1995 	 4. 1990 

169. What 	are 	Prime 	minister office, 	diffence 
minister office 	and 	external 	affairs 	office 
jointly called: 
1. North block 	 2. South block 
3. West block 	 4. East block 

169. --(f) ft-QITT .z.-ffillf.-. 	(-PM WI, 	&'.1T 	14-)11e1q 

3il.Rr 	th-- 1 	1.4. 1 	ct)RlieiLli 	01 	3-43TOTT, 

7ITIT g 
1. 	.1?-1 -ccilcb I 	 2. 3T10)24 cri-14) I 

sri-- • 3. 	s- 	crrich I 	 4.9:--d 1 
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170. The head of the ruling party in Lok sabha is 
called: 
1. Speaker Lok Sabha 	2. President 
3. 	Prime minister 	4. 	chief minister 

170. Act) 	TNT 4 ,i-k-IIUTti 	<el 	4)1 -11WRIT 6)01 
4 I 
1. 	31uTaT a co TiliT - 	2. 	TTKE110- 
3. Amt 	 4. IT it 

171. What does Ashoka's wheel in- the national 
flag repersent? 
1. Wheel of peace 
2. Wheel of prosperity 
3. Wheel of Authority 
4. Wheel of the law 

171. ITTTd. 	$i 	it 31V1 	s 	cv-IT 	‹iic-11 g. 

1. 	vi-0- 	 2. 	Ti 

3. 	.1I 	 4. 	chi-ki  

172. Care taker of the Indian constitution called: 
1. High Court 

2. Supreme Court 

3. Subordinate Court 

4. District Court 

172. 1TFetzf 	1:-1*-1-M 	•muirii ch61 uncif t I 
1. \i-G-ci 	-Qi i q 1 M'-1 M-4 
2. ,4ici1-GT-1 --qmieig Th--  
3. 3Tf4TPT -qmiclei M 
4. fircil -RiTzlicizi 	co) 

173. The concurrent list of contains : 
1. 97 subjects 	 2. 47 subjects 
3. 66 subjects 	 4. 96 subjects 

173. Till-a Tit 4 	 Rtiq t - 
1. 	97 Wig 	 2. 	47 1tia 

3. 	66 fat4 	 4. 	96 ftiq 

174. Which great man 	is known as "Simant 
Gandhi"? 
1. S.V. Patel 
2. Khan Abdul gaffar khan 
3. Jawahar Lal Nehru 
4. M.K. Gandhi 

174. ',411111-ci f .i. 4-151pq 	ct)) 	TM' 	* -IN 3-4 
vivir ,iicit t? 

• 1. 	flC, tO tra-a 
2. 	.q1--1 3Iciri 	Jit-tit)H NI-I 

3. v1c116 	did 	')q 	 . 
4. RTTO 	0 TM 

175. In 	Indian 	constitution 	the 	provision 

regarding emergengy are adopted from : 

1. Germany 	 2. Japan 

3. UK 	 4. USSR 

175. 

1. -Ti-t 

likd * 3-iftziF 4 aimidchiei 	T slidtTM 

441 t f -Trr 41q1 I 

2. vIl41-1 t 
3 	f;-r R4 
4. 	"tatici 	:)f1d -44Ef (Z0 PTO 	10 3TR) 

i4 
176. Economy of Goa is mainly based upon 176. 4 i Cli T 3P-M-a2TT 5--CQM: 	 AZ 

31-mifb-  t 1 
1. 	Agriculture 	 2. 	Industry 
3. Tourism 	 4. 	Dairy Plant 

1. 	Of 	 2. 	3-- 1)-7T 

3. 	tizi-d-9. 	 4. 	iTU T473.1 

177. 	In 	which 	state, 	the 	"Pashudhan 	Bima 
Yojana" was launched in July 2016 
1. Haryana 	 2. Rajasthan 
3. Punjab 	 4. Uttar Pradesh 

177. 

. 

-ipp9-  v 	i 	2016 4, 	WiT 'fl\it1 	A 	ci)iii 
4v9r 31-R143 V? 
1. 	tRarurr 	 2. 	'<ivi 'MR 
3. 	tt7T4 	 4. 	\31--i 	AST 

178. Which of the following is not a direct tax? 
1. Sales tax 	 2. Income tax 
3. Wealth tax 	 4. House tax 

178. f- i---r 4 t (t)l-r 3iT mcetaT cm •-tgl t? 
1 	f4-A ci-) 	 2. 	31P:i cm 
3. 	Tircif 	ct") 	 4. 	416 	chi  
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179. Distinction in Private sector and 
sector is done on the basis of 	 
1. Conditions of employment 
2. Economic activity 
3. Number of workers employed 
4. Ownership 

179. 	 31-ck 4)-F 

37417 
1. u141K Wa 
2. 3TTf 5 f4T 

3. .ftz1111- ,gfiWt. 	- i•TqT 
4. ,-(.11Pc-ci 

public 

180. Which price is announced by the 
government in favour of farmers? 
1. Maximum support price 
2. Minimum support price 
3. Maximum retail price 
4. Minimum retail price 

180. 	E,RT f-4,z,f-N't 	ffcr -4) Wa 
Eh-Erurr ci 	1 t? 

1. 31-10- Fi 	7-TT 
2. --T-1 (-19 fl4-10-9- 
3. 31144)0 4-1 
4. -q--R-11-1 C41 TIF:1 
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